ANGLES OF POLYGONS “BLACKOUT”

“Problems” Side

	
	1
	2
	3
	4
	5
	6

	1
	FREE

(
	Find the sum of the measures of the interior angles of a pentagon.
	Find ‘x’:
	Find the measure of each interior angle of an equilateral triangle.
	The measure of each interior angle of a regular polygon is 108°.  Name the polygon.
	If the measure of each exterior angle of a regular polygons is 20°, find the number of sides of the polygon.

	2
	Solve the inequality:
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	Find the sum of the measures of the interior angles of an undecagon.
	Find the measure of each interior angle of a regular 17-gon.
	Find the sum of the measures of the exterior angles of a dodecagon.
	The measure of each exterior angle of a regular polygon is 
[image: image2.wmf]o

7

2

10

, find the number of sides.
	Solve for ‘x’:
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	3
	Find the midpoint of XY, if X(-5, 6) and 

Y(0, -4).


	Find the measure of each interior angle of a square.
	The measure of each interior angle of a regular polygons is 165°.  Find the number of sides.
	Find the sum of the measures of the exterior angles of a pentadecagon.
	The measure of each exterior angle of a regular polygon is 
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.  Find the number of sides.
	Solve the system:
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	4
	Find the sum of the measures of the interior angles of a triangle.
	Find the measure of each interior angle of a regular octagon.
	The measure of each interior angle of a regular polygon is 160°.  Find the number of sides.
	Find the sum of the measures of the exterior angles of a 101-gon.
	Find the measure of each exterior angle of a regular 36-gon.
	Find AB if A(-2, -3) and B(1, 4).

	5
	Find the measure of each interior angle of a regular 20-gon.
	The measure of each interior angle of a regular polygon is 174°.  Find the number of sides.
	FREE

(
	Find the measure of each exterior angle of a regular nonagon.
	The measure of each interior angle of a regular polygon is 140°.  Name the polygon.
	Find the measure of each exterior angle of a regular heptagon.

	6
	Solve for ‘x’:

2(x – 2) – 3(x – 1)=13
	Find the measure of each exterior angle of an undecagon.


	Find ‘x’:


	Find the sum of the measures of the interior angles of a 17-gon.
	FREE

(
	Find the measure of each interior angle of a regular hexagon.


ANGLES OF POLYGONS “BLACKOUT”

“Solutions” Side

	
	1
	2
	3
	4
	5
	6

	1
	FREE


	540°
	x = 165
	60°
	Pentagon

(not 5!)
	18

	2
	n ≥ -11


	1620°
	158
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	3
	(-2.5, 1)


	90°
	24


	360°
	42
	(

	4
	180°


	135°
	18
	360°
	10°
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	5
	162°


	60
	FREE
	40°
	Nonagon

(not 9!)


	51
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	6
	-14


	32
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	14
	2700°
	FREE
	120°


DIRECTIONS FOR “BLACKOUT”

     1.  Assign each student a partner.

2. Each set of students gets one “playing board”, a set of dice, and 2 highlighters, markers, etc. of 

     different colors.


     3.  The student whose first letter of his/her first name comes first in the alphabet will go first.

4. With the “PROBLEMS” side of the “playing board” showing, the student rolls both dice.  The numbers showing on the dice will determine the row and column that the problem the student is to work out is found.  (EX.  If a student rolls a 2 and a 3, he/she can choose to do the problem found at row 2, column 3, OR row 3, column 2.)

5. BOTH students work out the problem on a scratch sheet of paper.

6. When BOTH students arrive at an answer, they turn the sheet over to the “SOLUTIONS” side.  If the person who rolled the dice has the correct answer, he/she gets to “blackout” that square with their highlighter.  If the student who rolled gets the incorrect answer, his/her partner has the opportunity to “blackout” that square if their answer is correct.  If neither is correct, the box shall not be “blacked out”.

7. Regardless of who “blacks out” the square, the rolling of the dice alternates between partners.

8. When the board is completely “blacked out”, the person who “blacked out” the most squares is the winner.  In the event that time runs out before the entire board is “blacked out”, the person with the most “blacked out” squares is the winner.

Most frequently asked questions:

1. What if, regardless of the combination of my two numbers, both squares are “blacked out”?  You lose a turn, and your partner will take his/her turn at rolling the dice.

2. Can you help me with this problem?  Not if your partner knows how to do it.

3. What if neither of us can solve the problem?  Then the teacher may assist both of you in solving the problem, but no one blacks it out.

4. What do I do with a FREE square?  “Black it out!”  It’s free!

5. What if we are tied when time is up?  Do one more problem to break the tie.
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